BSH.8... supLATES MOUNTING FOR ADH.8 TyPE PILOTED vALVES CETOP 8/NG25 (IO

BSH.8.13 witH P, T anD A, B Rear 1" BsP

Single plate
for piloted valve

CETOP 8/NG25

102.4

£}
128.5

1" BSP rear connectors

No variant

BB E

Serial No.

Weight: 6,3 Kg - Fixing screws M10x60 UNI 5931

BSH.8.13* with P, T aND A, B REAR 1"1/4 BsP or 1" 1/2 BsP

Single plate
for piloted valve

CETOP 8/NG25

A = 1"1/4 BSP rear connectors
B = 1"1/2 BSP rear connectors

No variant

SISHEICHE

Serial No. Cw ]

Weight: 21,7 Kg (BSH.8.13A) - Weight: 21,2 Kg (BSH.8.13B)
Fixing screws M12x100 UNI 5931

BSH.8.15witH T, P anD A, B sipe 1" Bsp

Lis
92 58

Single plate 50 Joel 0

for piloted valve = {}m P e
o

Lol

CETOP 8/NG25

1" BSP side connectors

No variant

JEELE

Serial No.

Weight: 8,2 Kg
Fixing screws M10x75 UNI 5931

BSH.8.17 witH P anD T REAR, A AND B sipe 1" Bsp, X AND Y REAR

116 58 73
52 30 17.5

Single plate
for piloted valve

CETOP 8/NG25

102.4

138

1" BSP rear and
side connectors

No variant

HJEEHE

Serial No.

Weight: 8,3 Kg - Fixing screws M10x75 UNI 5931

e 60



